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Question Number : 1 Question Id : 4548933793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

An agreement made without consideration is ?
qierEel & o {5 T od e w7

Options:



Valid

Illegal
o AT

YVoidable

Void
4, T

Question Number : 2 Question Id : 4548933794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The Sale of Goods Act came into existence in -
e s O 2 2 0 ) e e s R A
Options:
1930
1.

Question Number : 3 Question Id : 4548933795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

In the absence of partnership agreement the profit is shared by the partners
WIEETY Hold & ST ¥ WIEEN w1 o w &
Options:

Equally

IHHWFITT‘«lTﬁTﬁTﬂTTrﬂFﬂ?

On the basis of capital invested

o TR T G @ S 7 e s @



On the basis of the decision of the court
5 T I i R s P 1 e M 1

MNone of the three
y S B O o |

Question Number : 4 Question Id : 4548933796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
'Holder in due course' is related to
enfafe any Wt §
Options:

Sale of Goods Act

;. T e e 9

Negotiable Instruments Act
o T faerd s @

Partnership Act
5 STEETS ST W

Consumer Protection Act
FUATET e AfETE |

Question Number : 5 Question Id : 4548933797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion
Who are parties to Bills of Exchange ?
fafAa o= & eTEn w8 7
Options:

Drawer

TR

Dravvee

All of the three
T



Question Number : 6 Question Id : 4548933798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label ; Multiple Choice GQuestion
Which one of the following is #ot a tvpe of cheque ?
i i s M s M 6 i = s B 5 e -
Options:
Bearer Cheque
; TED EED

Order Cheque
AT AW

Upen Cheque

Sperial Cheque
g fAfIr =

Question Number : 7 Question Id : 4548933799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question

A private company can conunence its business after obtaining the -
G EN s TG H R 1 B 1 B T M A e M| = B = L B ER G e T L=

Options:
Certificate of incorporation
. SRk o B e | e

Certificate of commencement of business

5 ST WA e T HATIS

Both Certificate of incorporation and Certificate of commencement of business
o TTEST T WA T S R e @ AT S

MNone of the three
4 O3 1 L B M s o

Question Number : 8 Question Id : 4548933800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question



Doctrine of constructive notice is related to the constructive notice of the
tollowing public documents :
B e 0 A O B = A Rk 1 =) S e o s K L O

Options:
Memorandum of Association
oreE A

Articles of Association
e A

Both Memorandum of Association and Articles of Association
L8| LA G | e G B M U AR | B e e B

MNone of the three

[ B M W Y A

Question Number : 9 Question Id : 4548933801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
The Articles of Association contains :
oreE aTHIE 4R #
Options:

Scope of the Company
L T T T

Objects of the Company

[} r X
G P o | M 7 BRE T

Limit of share capital

ST T AT

Rules and regulations of internal management
4 AR e @ e aen [

Question Number : 10 Question Id : 4548933802 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The Registrar shall not register a prospectus, if :
4 B el 1 s s 1 B o B F= s o e A

Options:



It iz not dated

fofer arfiea 98T &

It is not signed by every person

el =l 5T =wEi a8 8

It is not accompanied by consent of the auditor
e R L T o B s T il

All of the three
AT # |

Question Number : 11 Question Id : 4548933803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

Which one is modes of winding up of the company ?
T T A T BA-A] T OB L

Options:

Winding up by the Court

=ATHTE ERT THTHA

Voluntary winding up
RS R |

Winding up under the supervision of the Court

R r A TR E) s T B |

All of the three
[l L S T

Question Number : 12 Question Id : 4548933804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Anv act done contrarv to the objective clause of the Memorandum of
Association 1s :

s W fFram @ SagIy o & feg i m e W g o 9

Options:
Valid

, T



Fidudiary

ST

Ultra-vires

e

Statutory
AT

Question Number : 13 Question Id : 4548933805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Business Finance iz mainlv concermned with
~ Fyo 3
SITATETE 97 {0 5

Options:
Acquisition of Fund
Ffer 1 wre e o

tilization of Fund

e s e

Arquisition and Utilisation of Fund
L I e i M = | e ) . e e

Nomne of the three
i B A e |

Question Number : 14 Question Id : 4548933806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which one of the tollowing is the objective of tinancial management ?
s R 3 [ S O P s P o ™ = s 3 B - -
Options:

Sales Maxinmization

i s 1 e M | T K S

Revenue Maxinisation
5 ST S B s b sl



Wealth Maximisation
S B e i |

Arnzet Maximisation
EIEEsRc) ke BN O o e e |

Question Number : 15 Question Id : 4548933807 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Financial Management is related to
Fereity teer WHaf=re B

Options:

Recruitment Decisions

M Mo

Ivrestment Decizions
T fror

Inventory Decisions
mare Ao

All of the three
AT H W

Question Number : 16 Question Id : 4548933808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

CQuestion Label : Multiple Choice Guestion

Market value of shares of a company is decided by :
faett Pl @ il o ATy Hed A fEm @ 2

Options:
Concerned Company

i Trafe HEIE TR

Goverrunent

o WYY G

Investment Market
. Faf=imar a8



All of the three

" T A o

Question Number : 17 Question Id : 4548933809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Cuestion
The optimum utilization of available funds with caretul allocation among
competing projects is :
e e 1 s O o e e 3 BB 1 e R O R
Options:
Capital Positioning
; T T

Capital Rationing
5 et T

Capital Budgeting

Capital Structuring

, ot HET

Question Number : 18 Question Id : 4548933810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
With the application of debt tunds in the capital structure, which ot the
tollowing will change ?
L A e I e o 1 2 e 0 i e M e e 1 B 1 ) L
Options:
Operating Leverage

Financial Leverage

5 GisiE B

Operating Ratio

5 qiETE S



None of the three

, e

Question Number : 19 Question Id : 4548933811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Coupon Rate is also knovwn as

71 £ R S ol 1 s i o T S
Options:
Current Yield

| FEE wiE

Yield to Maturityv
121 e 5 o s = |

NMarket Interest Rate
] I 2 N O -

None of the three

, T 3

Question Number : 20 Question Id : 4548933812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Which one of the following is creditorship security 7
Frfafiaa § @ ®E-u eFsrTE afdgT 8 7
Options:
Equity shares
| TR &7
Debentures
FETH

Preference shares

T @

MNone of the three

[ O O 1 = B



Question Number : 21 Question Id : 4548933813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Working capital Management is managing -

TN ToAT T s T HEEA HEAT B
Options:

Long Term Assets

STERTer R

Long Termn Liabilities

Sremre = T

Short Term Assets & Liability

o SEEEE T g St

All of the three
=T H o

Question Number : 22 Question Id : 4548933814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Financial Leverage is also known as :
faeitr STE® o & AT W A A e #
Options:
Trading on debt
1 A S B FL T

Trading on equity

o WA Y SR

Interest on Debentures

FOTISE T #T
=

Interest on capital

4‘-',[_-|“'I"_|'I_-l

Question Number : 23 Question Id : 4548933815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question



Operating leverage is equal to
oRETe Sielt aeEy §
Options:

Contribution /EBIT

. TR/ ZodioaTEoto
Contribution /EET
TR /godiotio

Contribution /PAT
o TR/ Hogodio

MNone of the three
=T H W wE AR

Question Number : 24 Question Id : 4548933816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

EBIT mayv be calculated as :
godloaNgodlo &t IOET 9 G Wl B
Options:

Sales-Variable Cost

(S pp e 1 s 1 o Ed i ARG

Sales-Fixed Cost

fep —fer @

Contribution-Fixed Cost

5 arraTa-FE AT

MNone of the three

SRR e

Question Number : 25 Question Id : 4548933817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the capital budgeting , which of the following is considered ?

T O B B e 1 s M B B i s e = o2 s

Options:



Accounting Income

G ECIE i R

Operating Profit
e o

Cash Flows
(& ¥ [ I
3 BETEREE

All of the three
o T A

Question Number : 26 Question Id : 4548933818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

It book value of a share is less than its real value, the company is said to be -

E21 3 ) B s 7 M (e M S | B o P e s B s O v O .= OO it
T
Options:

Over Capitalised
. Sl |

Under Capitalised
o AT IaTg

Highls levered
o e i i [ A

None of the three
el e M 7 e -3

Question Number : 27 Question Id : 4548933819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The remedies of under capitalization are :
TSP & T &
Options:
Share Split
(ST T



Issue of Bonus Shares

AT AT T T

Issue of New Shares
I Ao @ e

All of the three
4 AT H T

Question Number : 28 Question Id : 4548933820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Fixed Cost Capital does not involved :
Re ST aTE] T 7 e FEt &
Options:

Preterence Shares

. ECHEEaESC

Retained Eamings
UEGEEHE

Debentures

Long Term Loan

g4 CTHBTC Fev

Question Number : 29 Question Id : 4548933821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

High Gearing involves :
g=g iy vymag 8 ¢
Options:

Excess of Debt Capital

| O st & e |

Excess of Equity Capital

o R ST & e



Deticiency of Debt Capital

o T G 1 e T

Deficiency of Equity Capital

o R ST

Question Number : 30 Question Id : 4548933822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Cost of Retained Earning is equal to
g AT W® AT aay § o
Options:

Cost of Debentures

y FOTTE] H AT &

Cost of Equity Shares
HHAT 3T 1 NI &

Cost of Preference Shares
T I @ AT @

None of the three
Gl e i

Question Number : 31 Question Id : 4548933823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The combined leverage is calculated as:
B8 £ s B g G e L =0 Y 2 ) e [
Options:
DOL x DFL
1.

DFL
DOL

DOL
= DFL



None of the three

" [ [ s e e

Question Number : 32 Question Id : 4548933824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Pay Back Period is calculated by :

£ e e A 1 e 1 ) K e 1 B | )

Options:
Tnitial Investment

Net annual cash flows
TREE
I ARG AEE Wb

Total Capital
INet annual cash Hows
ERE AR
I AE AFT WA

Gross Profit
Net annual cash flows
el TTH
g Aifffs e ware

None of the three

g 1 W wiE A

Question Number : 33 Question Id : 4548933825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion
Cost of debt capital is computed as :
T AT W ST W AT T A #

Options:
B
NP
5
ir_'l— t
D



(1—f)

MNone of the three

4 T H W BrE T

Question Number : 34 Question Id : 4548933826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If risk tree rate of return is 10%, firm's beta is 1.75 and the return on market
portiolio is 15%, cost of equity will be :

afe ey Ed w59 10% 8 W @ 4l U 175§ aEn anee SiEEnT e
e 15% &7 8, T WEAT 3ET & ST B

Options:

16.75%
1.

18.75%

21.75%

Question Number : 35 Question Id : 4548933827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Pavment of Dividend can #otf be made from:
ST W1 I FET fhar o ey 8
Options:

Capital
) T

Reserves

qg A

Profits
AT H



MNone of the three

, TS g e

Question Number : 36 Question Id : 4548933828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

If EPSis T 4, DPS is ¥ 250, cost of capital is 16% and IRR is 18%, as per Walter's
model market price per share will be :
afe uf afer amm T4 5 wfy S erare € 250 B OqEl @ @vrd 16% ® 9 ariE

g &Y 18% 1 A7 gieny Arse & SR A af9 are qeE B

Options:

T2417
..

T 2617

T27.17
4,

Question Number : 37 Question Id : 4548933829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The term previous vear means in Income Tax
ST | Ay W Ay E
Options:

Finanacial Year betore the assessment vear
;¥ PR 9 ¥ g @ fowf a

Arcounting Year

fErrdr =

Calender Year
o TETSY Y

None of the three
[ A s e s

Question Number : 38 Question Id : 4548933830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
I which of the following section of Income Tax Act exempted incomes have
been mentioned ?
T AT W SeeRd aTmdw sfatrad @ Frefata 9 oW fEe g @ as
fim T & ¢
Options:
Section 10
g1=1 10

Section 30
g7 S0

Section 33
=TT 85

Section 50 TA

e S0 1A

Question Number : 39 Question Id : 4548933831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Perquisite of car, meals, credit card, club etc. will not be taxable, if assessee is :
I, Wi, Hige wTe, g onfe gfaerd e avo =8 s el afe wvemr #
Options:

Government employee
I T

Non-Government emplovee

T s

Specitied emplovee

fefame s

Non-specitied emplovee
UESE EilS 2 L IRl

Question Number : 40 Question Id : 4548933832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

Deduction allowed from gross salarv :

515 7T M b M= S <t 1 0 = e e
Options:

Income Tax
ST

Entertainment Tax
AT Y

Professional Tax

Insurance Premiwm
AN EE

Question Number : 41 Question Id : 4548933833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Deduction for other expenses in the computation of Income from house
property is allowable to the extent of :

B2 157 S ™ | M A £ S (R ) O s £ £ o e sl i B = [ S 1y <
Options:

é th of Annual Value

[

o

1

3 th of Annual Value

AT Ho w1 1
5 : 4

-

— th of Annual Value
10

3
= 10

% th ot Rent Received



Question Number : 42 Question Id : 4548933834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Annuaal value of a house property is Rs. 1,20,000. B and C are equal co-owners
of the house. B s income from house property shall be Rs. -

T HBA Wl @ Ate ge wo 1,20,000 ¥ | $9 A6 § avay & g Boud
C ¥ B qA weOil § a9 BET wo

Options:
42,000
1

60,000
2.

5 45,000

4 40,000

Question Number : 43 Question Id : 4548933835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion
Matching concept relates to the preparation of
IAETE T ATANT BT R A E

Options:
Profit & Loss Account
FITH-ET =T

Balance Sheet

Frear

Cash Flovws Statement
I Hare faaem

Fund Flow Statement
4 T WErE faEe

Question Number : 44 Question Id : 4548933836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Premium received on issue of shareis a:

aren & e oy ure w8 ood

Options:



Capital Receipt

Revenue Receipt
o ST Wi

Deterred Capital Receipt
SIEEH Bl i

None of the three
4 T H ¥ PIg e

Question Number : 45 Question Id : 4548933837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Depreciation on tixed assets isa:
T AR 9N B B U@
Options:

Capital Expenditusre

i el AT =

Revenue Expenditure
o AT e

Deferred Revenue Expenditure
e TIEre Wi

None of the three
4 T H W Py TEH

Question Number : 46 Question Id : 4548933838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label ; Multiple Choice GQuestion

A lease was acquired for five vears at a cost of ¥ 20,000. It was decided that
depreciation should be written off according to Annuity Method. The annuity
of T 1 at 5% for 5 vears is T 0.230975. The amount of depreciation is -

T 20000 %1 @rd ™5 At & fou uw qeer fermn ) afie gefa W ouee
T AR B H (FEmm gam, Afs T 1 @ anfbdy 5% o wY ¥ 5 Am & fw
T0.230975 £ | &TH W AR # -

Options:

1 T 154575



95
, 461950

7 115488
3

07"
% 92390

Question Number : 47 Question Id : 4548933839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

All adjustment entries in Final Accounts are written two places -
LSk R 2147 31 e M v e o o M 2t R 8 )

Options:
Trading Account and Balance Sheet

lﬁwmﬂfrﬁna“n&ﬂq

Profit and Loss Account and Balance Sheet
o TTH-ET Wi | T e |

Trading Account and Profit and Loss Account
o TR @I A ST A= an |

Trading Account or Profit and Loss Account and Balance Sheet
Gt o e | | P o e 1 = e 2 e B

Question Number : 48 Question Id : 4548933840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

I casze of a firm = dissolution, the balance of Realization Account is transferred
to Partners' Capital Account :
T2 B O 1= e 1 ) B B i e e s e | 3 i B e S A B 6 o

Options:
Capital Ratio

. e

Equally

> HE -G EY,

Protit Sharing Ratio
T TEMTa s



Partners' Loan Ratio
. HISIERI & 0 & o 4

Question Number : 49 Question Id : 4548933841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Pre-incorporation profit is credited in
HHAHEA & YT F A B HieT B S 8
Options:

Profit and Loss Account

ATH-211 =T H

Capital Rezerve
o HET T

General Reserve
HH= 999 H

Secret Reserve

P e

Question Number : 50 Question Id : 4548933842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
Which one of the following is nof a teature of Bonus Share ?

B £ 115 T R = Yo P 1 i £ e s L i S

Options:
Bonus shares are issued as fully paid

. Ui @ Sl e R R

Bonus shares can be issued to the existing member only

S Ty B il o 17 1 B ) W o O 1 O b

The right of Bonus shares cannot be renunciated

21 o Mo e O 2 1) e e e o s 8 M 22 s 5 £

Partlv paid Bonus shares can be issued

4 T S @ i ar Free fr o aw 8
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Correct Marks: 3 Wrong Marks: 1
Q'LlEStiOﬂ Label] : MU.ltiplE Zhoice QU.EStiOﬂ
Profit on cancellation of ovwn debentures in transferred to -

S s B L ot s s e S e e s 2 s 7 = o M 5 28| O L =

Options:
Profit and Loss Account

FTH-BET+T 137 |

General Rezerve

W HEY Y

Capital Reserve

T HEA H

Debenture Redemption Reserve

ST IIEA TR OH
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Correct Marks: 3 Wrong Marks: 1

ouestion Label | Multiple Choice Cuestion

According to Companies Act, 2013 the format of Balance Sheet is given in :
FE e, 2013 @ e fFes @ ey G &

Options:
Schedule-VI

N AV

Schedale-11
o AT En-11

Schedule-II1T

-1

Schedule-I

4 T
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



In case of instalment system, total interest receivable by seller is credited to:
fepee agfa | famar g urs aryg 5 = #iee fFm o 2
Options:

Interest Account

F o B e

Sales Account
Fa o
e &7 H

Interest Suspense Account

a8 O B e e M [ =

Asset Account

Hre = A
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Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Question

Which one of the following statements is true ?

5 R = e = B e 1 i | B o

Options:

In the books of Hire Purchaser, the Asset Account is debited with Hire
Purchase Price.

L 2 = i e i el e e M e e -l o L e e e s o M

Under the Hire Purchase, the ownership of the goods is transferred as the

cash down payment is made.

EFRe 1 o) B e o MR 4 s | e 2 | s e e R
5 T BITRRYT BT S E |

Hire Purchaser has the option to return the goods.
| 222 = s O | s M v M L e W e 3 B I s 4 v |

>
Under Hire Purchase, the buver charges depreciation on Hire Purchase
price of asset.

5 1 cd2 = e e e s e B 0 i 21 = s e e S R A L
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Under Instalment Purchase System, the nature of contract is an
fehoel @ TEfd & =TI eas & W 8 U

Options:
Agreement to Hire

feeT @ WHSITe

Agreement to Sale
faer & w=Ee

Agreement to Purchase

7 s TS = ) Dl

Agreement to Instalment

4 T G 7 22 1) 1 e

Question Number : 56 Question Id : 4548933848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

To ascertain the closing debtors of a branch will be included :

B nr= ) s ) o M= £ e M s W= M 121 T M)

Options:
Credit Purchases

1 FETT TF

Cash Purchases
o AT

Credit Sales
FgV o

Cash Sales
4 T fawa
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Branch account under debtor svstemis a -
6 E= = 1 s R PO s ) e e 1 | s O

Options:



Real Account

FIES G EE|

Personal Account
aartaeE e

Nomunal Account

5 e R ol

Reprezsentative Personal Account

L2 [ 2 O | e g e
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

Depreciation of Branch Fixed Assets will be credited in branch account book in :
T i T TWEIRT U JoUE Il & odT a5 | hise B

Options:

Depreciation Account

He B ol |

Head Otfice Account
e AT T i

Fixed Assets Account
werrdl Wy e |

Branch Account
TMET T o
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion
An independent branch iz one which :
Ud e YIEl 98 8 ol

Options:
Carries on business on a large scale
| TS THE Y ST B

Does not obey the order of the Head Ottice

o W 7 (s £ M 1 T D = M = R s e



Independent in doing any work
S e 1 e i s O T LM == [ o

Purhcases goods on own account
T TR T HIe Eee ©
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Question

In caze of a Foreign Branch, Current Assets and Liabilities should be converted at -
et smar & ww |, =re] 9k ve SR awdl o 8

Options:
Rate prevailing on the last date of the vear
T T afeA oy @1 wEen ' W

Average rate
TR B9 T

Rate prevailing on the beginning date of the vear
@ o b T owEfad  aFow

MNone of the three
T H W wE TRl
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Departmental Protit and Loss Account balance will be transterred in
= 1 R B B s M e M e i 1 A
Options:

Trading Account

1 ':':I :I:-\.r x:"'-'l-.l Il-

Balance Sheet
Fee |

General Profit and Loss Account
[T ATH-BT T |

Profit and Loss Appropriation Account
cIr-ET= fafErsE e A



Question Number : 62 Question Id : 4548933854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The entrv of transter of goods in inter-departmental transactions at cost price
will be recorded in the transferring department in the -

) el e e P e e B B ) e (o B R s e e (1 | L R I S B G B T
+

Options:
Debit side of Trading Account

Credit side of Trading Account
YR R & Hiee 987 4

Diebit side of Profit and Loss Account
B B M =6 - [ e

Credit side of Protit and Loss Account
ATI-51 T W SieT U H
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

Expenses allocated according to sales ratio of departments are -
fepmT @ et & sgora | are S arel =9

Options:
Repairs
1 HAIFHT

Sales Comumission
BB B P

Depreciation
._"I % I

Rent of Building
S A
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Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

Non-departmental items ot expenses are charged to:
T-fRTITE =R W A P HEINT B E

Options:
Departments on the basis of total sales
[ KR L T N e 2 B 2 R

General Profit and Loss Account

AT FT9-E17 @R

Departments according to fixed assets
s o ] R & e

MNone of the three
I i W e
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The amount of preferential creditors is shown in
S k| e s A o M| Bl 2 e

Options:
Deficiency Account
HHT T H

Profit and Loss Account
am-gif W= g

Statement of Affairs

Frorfey forrey

Balance Sheet
Rreo |
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rovalty accountis a:
affera ges War 8 U

Options:



Real Account

MNominal Account
arverfas @

Personal Account
R GG e

None of the three
L e e 2 =

Question Number : 67 Question Id : 4548933859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

The excess of Mininwm Rent over actual rovalty pavable is called :
1 B | o 2 | ) e s O 2 L W 6 M 0 2 e
Options:

Surplus
affersm

Shortworkings
AT T

Nazrana
SISEIEH

Irrecoverable rent
At o
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
When the minimum rent is less than the rovalty pavable, difference is called :
e = e S SN weh W BN 8 T ST e §
Options:
Shortworking
| STETET



Surplus
SIER
2

Lozs

= B

None of the three

o T H H wig
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Prime Cost iz also knowmn as -
Hel ST ol 1T ST 8

Options:
Indirect Cost
R r Bl | s e s 1 e

Fixed Cost
ferT @ & 919 9

Variable Cost

oaa=eiia e & A9 W

Drrect Cost
UERT ST ATH |
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Correct Marks: 3 WrongMarks: 1

Cestion Label Multiple Choice Cuestion
Increase in total variable cost is due to -
G T B e e e e A e e = Y S
Options:

Increasze in fixed cost
. e @ 7 g

Increase in sales
o foerm o gfy



Increase in production

3'?'11?'_1'11"11:?

Decrease in production

4?Tftna=rﬁu7rﬁ
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The nature of Telephone expense is
TETHIA = W EHE B §

Options:
Fixed
frery

1.

Variable
EIEEREEIE

Semi-variable
S e B s ki f

None of the three
[ LR S B 1= R e
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Consider the following steps :
F=tafiaa =vm = fFEm #fan

(1} Material consumed (2) Factory Cost
HA A HrHA R EETAT TETE

(3) Prime Cost (4) Cost of production
el #T FeTad AT

The correct sequence of these steps in cost sheet is -
AN = H G A B HE ST B
Options:
1,3, 2,4
b



Question Number : 73 Question Id : 4548933865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Data are arranged either in ascending or dezcending order in computing ... :
ATFET T Fgel M HE BH H WA E & IO F AT |
Options:
Harmonic mean
1 BT HIEY
Geometric mean
TR A

Arithmetic mean

HHAT =T

Median
4 T
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Relationship of Mean, Median and Mode are as follows :

AT, Hedel vE ffiwds a1 weae B @ o

Options:

FeAM-2X
1.

Z=3X-2M
o

X =3Z-2M
2.

M=3Z-2%
4.
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question
Formula for computing quartile deviation is :
Fed foaer s w1 o v

Options:
O3 -0,

2

0y — Y

Qi—0s

Os -0,
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Time and Factor reversal test is satisfied by :
WHT UE ol SehA THaml Bl Hegte Eedl 2 o

Options:
Laspever's Index

T T AR

Paasche's Index
qTa] T HEFE

Bowveley's Index

argel @ HARIE

Fisher s Index
4 fiFare @1 IEEHTE

Question Number : 77 Question Id : 4548933869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Formuila of least square method is -
SETH AR E T R

Options:



Y-=axr+h
B ¥k

Y- =h+ax
& R

Yo=x+ab
4.
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Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Which one is not method of calculating correlation ?
HEER MOET de @ - A g8t e o

Options:

Karl Pearson s coefficient of correlation

el [ W e IS

Fizher's coefficient of correlation
(e o1 e TS

Spearman s coetficient of correlation
[ o1 e 0T

Coefficient of concurrent deviation method

ST e e ot
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which of the tollowing is included in Business Economnics ?

£ 1211 o ) e B o e e M = 3 s

Options:
Theory of Firm

] T R

Protit Planning and Control
& A vd A

2



Forms of Market

All of the three
i = B}
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Correct Marks: 3 Wrong Marks: 1
Cuestion Latbel Multiple _holce Cuestion
Duties of a Business Fconomist is/are :
T SATANIAE AL % woe 8/F
Options:

Setting the objectives
1 GECER L aREEEe

Analvsing the problem
HHE o fggem

To reduce the risk of business

All of the three
=T H 9
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Question

Which of the tollowing is the basis for the indifference curve analysis ?
A |/ 9 FE-9 U oY o Ao W A B 7

Options:

Diminishing Utility

Hedl gy S

Independent Utility
A ST

Ordinal Utility
FEETER ST

Cardinal Utility
=TT S ATHTE]
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The second laww of Gosszen is
I i B A R B e E LR

Options:
Law of Equi margmal utility
| AT ST

Law of Equi-product
HH-SEE & R

Theory of inditference curve
[ [ocazr v | e = EO: FY O s e |

Law ot diminishing marginal utility

Wx':l-"ll“-TI -T-'-|-!.i|i-'4|r|| BTH i-':l"l‘-l
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Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

The concept of "Consumer s Equilibrium was propouned and developed by :
SUHTERT W | ST S AfedTe e e e e e

Options:
]J. B. Clark
] oo d@o gelE BT

J. M Kevnes

3 S0 THo &®i=H BTN

I. H. Richardson
5 Vo THo Resw g

Alfred Marshall

4 TS FE HIIE BTV
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Which is the method of measuring elasticity of demand ?
WIT @ S P AT B BE-A AR E 7
Options:
Percentage Method
| e

Total Outlay Method
el = A

Geometrical Method

2 EEE IR Ry e A 1

All of the three
T H W
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question
Who has said, "There cannot be a more insigniticant thing in the econonw of
the society than money” ?
157 b A== S £ e R o e (= e 1 s i e O 0 0 2l e e s M |
S 11 I ] <
Options:
Irving Fisher

zfa fior

Adam Smith
e i

1.5 Mill
o T fHe

J. M Kevnes
o THo BT

Question Number : 86 Question Id : 4548933878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Question

Which from the following is also called as ‘Emergency Currency’ ?
R 1 e A A e O o e M s e 2 B s o =

Options:



Convertible Paper Monev

aRaaeiie T5 18T

Representative Paper Money
aferffe o= ga

Inconvertible Paper Monev
S| e s B i

Fiat Money
4 e O HE
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Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion
Which is the oldest form of Gold Standard ?
O T ST A ST ST B O

Options:
Gold Bullion Standard
L T ST

Gold Panty Standard
o U] AT

Gold Currency Standard
= YU HETAA

Gold Reserve Standard

4 T fAfEEE
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
Which of the following versions is bazed on the Medium of Exchange tunction
of money ?
fFrefafag mert (Versions) @ &= H51 & & f@Fmg @ wem 0w
STETT ® 7
Options:
American Version

: AT AT



Cambridge Version
o WSl TSN

Both American Version and Cambridge Version

AHN A qTaTY T2 thired ey il

MNone of the three
4 G| G e A M A ]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which one of the following measures will nof help in checking inflation ?
fFr=faftan Surn | 9 SE-E ge-wnia e FEEe s | weraer 8 s ¢

Options:
Promoting Savings

;T T IR e

Adoption of Rationing
o VI ST @ e

Sanctoning Liberal Loans

5 SANTEE FT Fp T

Increasing Bank Rate
-FIEE E:_"'.r L '.:_|| i
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

; MV +MV : " . i e
In the equation P= fi which element iz not assumed to be constant

MV+MV

T P= H HIF-T1 T e Fa@T A T e

Options:
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Correct Marks: 3 Wrong Marks: 1
Question Label - Multiple Choice Question
Which from the following is not a consequence of deflation ?
Frefafiag 9§ ®E-w7 ga1 TEad & AT Fa@y o2 7
Options:
Beneficial for the General Public
i AU dmveTE

Beneficial for the Governunent
SR o e ol T L 12 A3

Harmtul for the Labour
5 #F ® Ay erfHEs

None of the three

el s e s
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uestion Label - Multiple Choice Cuestion

Which is #ot a function of Reserve Bank of India ?
- Adr g de o e J@t e v

Options:
Creation of Credit

| fErero

Izsue of Notes
e W

Control on Commercial Banks
arforfeas dwT v FaEm

None of the three
8 [ | R S B ) = e
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No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which from the following is nof a factor intluencing the size of cash reserve
kept by the commercial banks ?
fFrferiian # W ®FE-1 @ @iviT adl g T S drel SEn B W SE
1w FE W v 7
Options:

Past Practice
i ATl TR

Size of Deposits

5 STHTAT T AT

Dead Stock
o R
=, 1

Nature of Investments

. Fafwit o8

Question Number : 94 Question Id : 4548933886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

With regard to nature of methods of credit control, find out the odd from the

tollowing
BRI i el ) ) e e e e A o g e B M A e B = e ) |
Options:

Variable Reserve Ratio
el ST

Credit Rationing

Moral Suasion
Hfter =ara

None of the three
[ e =
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



Which of the tollowing is not the principle of investment of a bank ?
Frefefiaa o 0 ®F-91 U d & AR @ e T8t 8 7
Options:
Principle of tax free Investment
| A At e e
Principle of probability of Investment

o T o e @ fre

Principle of National Interest
o W R w T

Principle of Centralised Investment

o e T e R
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The loans given by which of the following institutions are called Credits' :
Frefaian weenal | o feas g B sl @ siSes wE w8
Options:
IME
. AT OTHO TR
World Bank
[EEEREET

DA
Ao oo

IFC
4 ATgortotio
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Transportation of goods is an activity related to :
L1 B ) B s MRS 7 ) O 1 B

Options:



Industry
1. ¥ -

Aids-to-Trade
SN H HEE

Comumerce
7T
= G | g

Trade

4 TR
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Liability of a Sole Traderis:
U Udhel =9 T gl Sl 8
Options:

Limited

HTfEra

Unlimited
S Elin|

Undecided
Ao

None of the three
T H W miE AE

Question Number : 99 Question Id : 4548933891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
Which trom the following is nof a teature of business combination ?

fAefarftag o | SE-9 =maEfae e @ fAeee T8 e P

Options:
Combination mav be tor a short period only
AT @del Aeddrel @ fold 81 Hafel 2




Combination mav be a partial consolidation

AT Ut TR WHAT 8 WE B

Combination cannot be of informal nature

AT AATIANE W @ AR BT Heha B

Combination mav be for the lust of power

21 e 1 I 1 Wl 0 s O L 1 M s 5 7
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Diagonal combination is also called as :

1 B e B e e O B E R |

Options:
Service Combination

", -

T qARA

Sequence Combination

Allied Combination
o TETTEH T

MNone of the three
T H W wIE AR

Question Number : 101 Question Id : 4548933893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question
Which trom the following is not an evil of combination ?
Frefafiad o & $E-91 QA w1 oA T8t e 7
Options:
Fear of Over Capitalization

y 3T oI ET A

Creation of Monopoly

> TR R o 9T



Fear of increases in corruption
5 HETER H i w1 W7
Dizadvantages of small scale production
4 TT9 MFR T ST & J19
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ditferent industrial units controlled by an industrial house is an examyple of :
(R EIE 1) e e =1 M | | e 1 e = 1 L RS e bl N 1
Options:

Circular Combination

Convergent Lateral Combination

T T IEE A

Divergent Lateral Combination

ferehees /1 AT WS

Diagonal Combination

" faeofie o
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which from the following is not an advantage of Horizontal Combination ?
Frefafias 5 o - Sfers dar @ e T8t e o

Options:
Financial Soundness

, famia sggem

Better demand-supply coordination
> HET-RET W GEAY HHE
Concentration of Econonic Povver
53 1 £ 2 =1 5 oy s ) s = =

3



Standard & Better Production

” B 1 G R ST Al T | |
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which from the following is not a factor influencing the organizational
structure of a company ?
Frfafiad § 9 SE-9 UF w1 @ FeAod @i ] 9AIET e drel Ud B
TEr e 7
Options:

Size of the Organization

HITS T 3T

Managerial Policies

e Siferr

External Enviromment

TIET TATETE]

MNone of the three

a1 W wig =
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which trom the following is not an advantage of Line organization ?
fefafias 4 ¥ ®E-u1 war Jred @ v T8/l w7
Options:
Strict Discipline
i FE AT

Democratic INature
TS qf

Better Control
5 aaEaY A



Prompt Communication

’ T e
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which of the tollowing is not a characteristic of management ?
B R 1 Rl e e 1 = e e = B e = =

Options:
Management is a composite process
Haee U wiHw g 2

Management is a social process
Haw] U AT A

Management is a tangible force
vEe UE gYd I B

Management is universal
maw waert ®
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which trom the following is nof true ?
fFrefaftad & 91w wer T8 = 7
Options:

Management is a developed art, social science and developed profession.
1= S 0 o I 1 o e 7 O 1 0 s e A e 2 o e e O

Management is a developed art, social science and developing profession.
15 0 B O = = 1 e B e | W U 11 0 0 M O = T e e e s W e

Management is a developing art, social science and developed profession.
12 5= B I e I el BN T A | 20 0 e A 2 O e o £ A B

Management is a developed art, pure science and developed profession.

wawe Ueh faaiNe @, e s g fEwia T g |



Question Number : 108 Question Id : 4548933900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

ouestion Label : Multiple Choice Question

‘Management is the art of getting things done through and with formally
organized groups . This definition has been given by :

‘ma ATrEIE W " Hied WS & W a9 S9E g HH HEEE & @l 2
TE TRETT €7 T B B

Options:
Harold Koontz

J. L. Lundsy
w0 Uelo TUe!

P.F. Drucker
o Yo FT

E.F. L. Brech

, ¥° T oo
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

From the tollowing, identify the correct statement :

I | = e s B = e s s 3 B 1w M 1| L

Options:

Management should give more importance to improving production than
productivity.

15 =TT = e T i ) s s B 1 e s s 1 o

Management should give more importance to improving productivity than
production.
(2o B 7 MR T | e e [ M B T A e e 1 B e s B ) e | s e VR L e

Management should give equal importance to improving production and
productivity.
2R B T | i M S T e o e B s e e R e = 1 i e

Management should not worry for improving production or productivity.
2 T | M e T Kt e S 1 5 s 1 e e e s O 4



Question Number : 110 Question Id : 4548933902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

Coordinating subordinates of a department working at different positions shall
be called as:

5 70 5 0 e % B [ 1) 3 e s i | Sl s oo B ) W o B | 3

Options:
Vertical coordination
1 Bad] HHA

Horizontal coordination
ETera

External coordination
: aled HHT

None of the three
[ [ O B s o7 =S
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Correct Marks: 3 Wrong Marks: 1

Cesticon Label ;- Multiple Choice Question

Which from the following is used for providing training to the railway electric
engine drivers !

1 £ = s O 7 = M e I M 1 e = 1 e s s L
fepan oo & 7

Options:

T-Group training

1A e

Role Plﬂ‘i.lng Method
i fFdea ff

Yestibule training
5T WS Wiy

On the job training

4 ey T gfEE
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion



Find out the odd trom the following
et o W eg @ st dif
Options:

Aptitude Test

sl weror

Attitude Test
5 CIRTRT T

Psvchological Test
5 SR o s e R

Vision Test
TR
P L ik
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
Who has said, Management means decision making' ?
e el & Cuas W oA At g o8 7
Options:
F. W. Tavlor

1 t\mﬁ EFI:-' '.:.'k:' .

Henrv Favol
B AT

G R Terry
Slo 3o 4

Rosz Moore
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which trom the following iz #ot a true statement ?
fFreforfiag | ¥ wi-wr W e JE e ¢
Options:
Direction is helpful in implementing a change programme.

; T L B [ M Y e s 0 = e - o -4 M o B3 |




Free rein technigue iz the most suitable technique of direction for scientists.

5 11 S O e e L e B ¢ OO o RS e o B e i e

Selection is an integral part of direction.
3 O A @ oud Fhe e g |

Direction may be needed in an informal organization also.

4 U FEIEIRNG WioH § 6 Fewe @ sragawar 98w ¥ |
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Correct Marks: 3 WrongMarks: 1
Cestion Label Multiple Choice Cuestion
When a plan is tornuilated betore the occurance of an event, it is known as -

UF HeAT ® "fed 89 W U8l Wa Ud W a9 Al 8, 99 W o #

Options:
Proactive Plan

1 'g._?"[-tl g

Reactive Plan
5 vferfererareT A

Foutine Plan

5 At AT

None of the three
4 FI‘-‘-H 'E[ '\1.—'[ q»'l[.f';' '_‘['_.-';'1
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which trom the following is not an element of planning ?

1 R 153 2 S M 1 P A 9 s s W ) B e 14 A

Options:
Poliries
| Aifert

Programmes

> ERErze)

Procedures

= BRI



Principles
y forEt
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
"Wearing name plate in the office by the staff is mandatory”, is an example of :
“EHTETEE | FE] g A afEe TEe S 8 98 Uh SaE B, 6
Options:
Policy
L
Rule
& e
Method
3 fafer

Obijective
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Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

A small core group of persons doing their trading basically through internet is
an example of

Uk OIC PR AN A% Al g g ovie OB AT SR 4Rl O
Options:

Virtual Structure
. eI e

Tall Structure

Mixed Structure
fatara arn

None of the three
s T O 7 =
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the tollowing is #ot a merit of decentralization ?
Frefafiad o o SE-97 o & o J8 e 7
Options:

Higher Morale of Staff

T ThT ST HErEo]

1.
Suitable for Routine Work
5 AT T B S
Ditficulty in Control
5 A= o weag
Timelv Decision
qH T9 T
4.
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the tollowing is nof an element of delegation of authority ?
5 i e O S i A e el e e ey e M 1 . S
Options:

Authority

. e

Povver

ElIn |
&

Rezponsibility
o TEEIA

Arcountability



